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Homework at the last meeting in Kashiwa
• We worked on the example of SIREN at the last meeting

• Remaining homework was to train SIREN by a color image 
you have.
• Patrick finished the homework as shown in Slack.
• I also finished the homework independently.
• There was difference in the implementation.
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• Patrick got the RGB 
values from pixel 
coordinates
• 3 output values for 1 input 

components

• Ryo got the RGB values
from from pixel
coordinates with RGB
dimension
• 1 output values for 1 input 

components
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• Implementation by Patrick seems to be working better (since 
the input variable space is smaller than the one by Ryo?)

Implementation by Patrick Implementation by Ryo True



Plan

• I think this implementation can be applied directly to the 
indirect light table by extending input dimension
• Normalized input 6 variables → indirect light distributions

(1,1,2) (1,2,1) (1,3,1)

(2,1,1) (2,2,1) (2,3,1)

(3,1,1) (3,2,1) (3,3,1)

0.1 0.2 0.5

0.5 0.4 0.4

0.6 0.6 0.9

0.1 0.2 0.5

0.5 0.4 0.4

0.6 0.6 0.9

0.1 0.2 0.5

0.5 0.4 0.4

0.6 0.6 0.9

(1,1,2) (1,2,1) (1,3,1)

(2,1,1) (2,2,1) (2,3,1)

(3,1,1) (3,2,1) (3,3,1)

(1,1,2) (1,2,1) (1,3,1)

(2,1,1) (2,2,1) (2,3,1)

(3,1,1) (3,2,1) (3,3,1)



Backup








